Practical - Human Variation

Biology - Key Stage 3

Reproduction - Lesson 13

Mr Wyatt
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These statements about graphs are
incorrect. Write the correct versions.

The Y axis is along the bottom and the X axis is up the side.
The controlled variable goes on the x axis.

The scale should never start at O.

The scale should go up in different numbers each time.

The scale should have Tlcm or 2cm between each number.

| @



Identify which humber is being pointed at
on each scale.
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Draw a graph and plot the data below.

Plant |Amount of water |Number of leaves
] 50 3
2 100 5
3 150 6
4 200 9
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